Algebra 2  Bellwork  Friday, June 10, 2016

1. Write the equation of the Tangent function shown. The window is 0 to 6z

y

2. Use this rational function: y = —?x(ig)é()x(x—?,)” = _3x2_212’9‘+36
— x —

a) Find the x and y-intercepts
b) Write the equation of the Horizontal Asymtptote, if any.

c) Find points of discontinuity, if any, and classify them as Holes or Vertical Asymptotes.

Simplify each. Use absolute value symbols when necessary.
3. ¥162a°p%c* 4. 364x%8y32z17

5. Solve this rational equation: 6. Solve this radical equation:

x 7 __x+34 A +3=x

x+4  x—1  P+3x-4

7. Rationalize this denominator and simplify.-ﬁ—
Y9a3b3c

8. The probability that | order a steak for dinner is % and the probability that | order a Caesar salad is

_g" Find the following probability as a percent rounded to the nearest tenth.
P(Steak or Caesar salad)=

9. Write both a Sin and a Cos equation for the graph shown.
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Algebra2 Belwork  Friday, June 10, 2016 [ Answers)

1. Write the equation of the Tangent function shown. The window is 0 to 6«
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2. Use this rational function: y = _?3512)6()56 —3)2) - =3¢ = 12’9” 36
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a) Find the x and y-intercepts N -AT ﬁ;{*’;’;’ = -y X-tar z ~l; 2,
b) Write the equation of the Horizontal Asymtptote, if any. LO/L“ _ ;flz, -2
c) Find points of discontinuity, if any, and classify them as Holes or Vertical Asymptotes.
Holes: Nowe VA, = %3
Simplify each. Use absolute value symbols when necessary. 5 , SR oy
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5. Solve this rational equation: 6. Solve this radical equation:
X 7 _ _x+34 _ =
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7. Rationalize this denominator and simplify.i‘l-— 76 QE\[‘T '\‘7/(5{A QVUGP
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8. The probability that | order a steak for dinner is 130 and the probability that | order a Caesar salad is
% Find the following probability as a percent rounded to the nearest tenth.
P(Steak or Caesar salad)=
9. Write both a Sin and a Cos equation for the graph shown.
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